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import jlabJLablO

public class Mean ¢
public static void mainString [ args) {

double x = oo

X += JLablO.readDoublecdata #1 :

X += JLablO.readDoublecdata # :

X += JLablO.readDoublecdata #3 :

X += JLablOreadDoublecdata # . »;

X += JLablO.readDoublecdata # :
Systemoutprintinmean = * + (X / 50) );

+
1 JLab-java Mean

Teeeeeeeeeeeeeessemmmees| data #1 - 12
data #2 : 35.5
data #3 : 16.8
data #4 : 19.0
data #5 : 2.2

mean = 17_.1
JLab>
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= X++ + ++y;

= X-= - -7y

= X++-++y;

= X==+--VY;

= X+++++y;

= X==-=- y;
X++)++;
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double x=10.0, y=20.0, z;

compiler 139

compiler 99

in'ly'lé
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e (YUl comma
o 57Uy : VadauBudla 0 (anviuan 0)

e FuLla : Aavauaa 0
e FIUAUNA : NaIBUAIY 0X

int basel0 = 2545; long basel0 = 2545L;
int base8 = 04761; long base8 = 04761L;
iInt basel6 = Ox9F1; long basel6 = Ox9F1L;
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Astdaua1add AL usuIuase

e float siavilavinaaa f »3a F
e double awnadra d ¥%a D MsaludA'lé

o daulusduuutia Afinnsaadla 10 and&9'ld L2y
— 1230000000.0 waerucilu

- 123E7 (Founu 123 x 107)

-12.3E8  (Tounu 12.3 x 108) 1467 e 1&nAlE I

e 0.0123E11 (fyunu 1.23 x 1011)

S ludA&96iag
— -0.000567 diguilu udruuga

e -567E-6  (@yunu -567 x 107)
e 5.67E-4 (founu -5.67 x 104)
e -0.567E-3 (fyunu -0.567 x 103)
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o 1IASIIANAGAINSLAnuTiayasTANUdyl
foanUsztanuily 1au
— fwiAldfidafLarfndsuainraladssan
— 14t method wassyuuRsudiayanuazdssanduii
— fM5INF D UENUVTAU wedaIn1THATITL ARG
— wan'lgannnsAwaiilae wedasnisilaig

int dx, dy, halfDist;

halfDist = 0.5 * Math.sgrt(dx*dx + dy*dy);

| :VAx%AyZJ
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Type Checking

e NslViARAUTZLANALUMILUTaYALUR THH U

public class TypeChecking {
public static void mainStringg args) {

double x = 10
short k 100000:
float T 1.2:

+
} JLabsjavac TypeChecking
. TypeChecking.java:4: [#1102] [#1155] anageaui&aminy
wiuenuaviaya'lad wu int wedagns short, column:15
TypeChecking.java:5: [#1102] [#1155] anagai&amainy

wiuegnuaviiaya‘lad wu double usgavnis float, column:15
JLab>

compilation error
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e cast operator : 1l@fiaissinnininnalulely
TIntawRindasn1s vt e u

public class TypeCasting {
public static void mainStringg args) {
int j = 3
Systemoutprintincint - " + (1 7 }));
Systemoutprintincfloat . ** + (1.0F /7 (float) j));
Systemoutprintlncdouble : * + (10 / [double) J )

1 } JLab-java TypeCasting
int : o
int j float : 033333334
10 / (double) j 3 double : 0.3333333333333333
1.0 3.0
| "/ 0.3333333333333333
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public class LossFromTypeCasting {
public static void mainStringg args) {

InNt 1 = (Int) 1299,

Int k = 19620; # Ox3000B

short tiny = short k;
Systemoutprintlner = ' + Iy
Systemoutprintinctiny = * + tiny)

+
JLab-java LossFromTypeCasting

+ -
e T IR I
tiny = 11

narrowing primitive conversion I JLab-
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Narrowing Primitive Conversion

- byte \flu char

- short \flu byte w3a char

e char \flu byte w3a short

e int \flu byte, short, wa char

- long flu byte, short, char, w3a int

e fTloat \flu byte, short, char, int, #3a long

e double flu byte, short, char, int, long, W3a Float
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e cast operator aganvinnau +

WEAaY () Wag unary + —

_*/0/0

public class PrecedenceOfCasting {
public static void mainStringg args) {
double X = 19, Yy = 109
Systemoutprintingint x «y = + (Inth X * Yy
Systemoutprintingint v - x = ' + (1Nt y * X))
Systemoutprintingint x - vy = + (1INt (X y
Systemoutprintlneint (v = X = ' + (Int) (y * X));
1 ¥ JLab-java PrecedenceOfCasting
B (int) X Y =109
Mnt) y * X = 190
(Nt (y * X) = 20
(Int) X *y) = 20
JLab>
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AstdRaudssianaaviiayaainedn lulic

o alviAAumudsinduaivianalaninenin

e +—* /49 % Tulinxldudayasvilssianiu
— dfidiayaniioiilu double azldaudndilu double éae
— iduiiu drfidayandioilu Float asldsudngniu Float éie
— Livtwiu drfidayandaily long asddaudndiilu lTong éae
— Livtwiu wdaudiayanegidy int

public class AutoConversion {
public static void mainStringg args) {
int 1 =7, j = 8
double x = osF ~ 1 + J;

Systemoutprintingx = ' + X

}

} JLab-java AutoConversion

T X= 118

. . - : JLab>
Wldenlng prlmltlve conversion I
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Widening Primitive Conversion

e byte \flu short, int, long, float, #sa double
e short (flu int, long, Float, wa double

e char (flu int, long, Float, w3a double

e int (flu long, Float, w3a double

- long \flu Float w3a double

e float 1flu double

anavih indnvinag aasdrwugavield (ia
o uldau int wia long \ilu float
e 11l&au long ilu double

public class Widening ¢
public static void mainStringg args) {
INt big = 1234567890;
float approx = big;
Systemoutprintincbig = ' + big)
Systemoutprintlncapprox = ' + approx,

1 ¥ JLab-java Widening

big = 1234567890
approx = 1.23456794E9
JLab>
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double x = @2 + 12); X fievinla ?

float vy = 1020 I y #avinta ?
double z = 4d + 5 I Z e wvinle ?
double u = 00 + 12 I u dewvinle ?

double v = (00 + 12 Vv dawvinle ?

double T = 2120
double c = 59 * (F - 32 c davinla ?
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floating point Juuraain

public class Imprecisionl {
public static void mainStringg args) {

double x = 20.1:

double y = x + 168 JLab-java Imprecisiont
Systemoutprintiny): 36.900000000000006
+ JLab>

‘}—
s1fun1sAIanius Aty

public class Imprecision: {
public static void mainStringg args) {
double x = 1.0E-200; - —
Systemoutprintinx - X / X Jiab-Java Imprecision:

SystemoutprintInXx - (X / X)); 00
3 1.0E-200

} JLab>
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public class DivByZero ¢
public static void mainStringg args) {
iInt 1 = o
int j

5 /7 K

Systemoutprinting)

+
} JLab-java DivByZero

eeeeeemmm—| java lang ArithmeticException: / by zero
at DivByZeromainDivByZero.javas)

Exception In thread 'main-

JLab>

AuULeN T LA infinity
MItUNITMITAIaFUaREVNTHLARAINNRANANA
aauzvindu (Banintin exception)
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}

}

public class DivByZero ¢
public static void mainStringg args) {
double 1
double j
Systemoutprinting)
Systemoutprintinooi

= 0.0;
=50 / I

JLab-java DivByZero

e [ nfFinity

NaN
JLab->

floating point Tua1%A infinity
uay NaN (Not a Number)
AvtuNITMITAIadUERElILAR exception
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